A& HB:10829H

F—L% TILARAY STAR LIGHT S| 74—>—X>2z ERE HH 7 X = |IEfz
x|lo — 3|x]o 3|1Ol2 — 1 R 1T = 2 |-
X Noil 0 — 6 |Noi1| 5 6 |Noi| 6 — 1 BERBE U |2 — 7 |-5
TILARAY 3
No2| 1 — 6 |No2| O 6 |[No2| 5 — 6 BxyS—L |28 — 44 |-16
No3l 5 — 6 [No3| 0 6 |No3| 6 — 1 | Bky¥—L=E 0.3889
O|l3 — 0 Ol 2 11013 — 0 I8 3 — 03
Noil 6 — 0 No.1| 6 0 |[No1| 6 — 0 BERRI |8 — 1|7
STAR LIGHT'S 1
No2| 6 — 1 No.2| 4 6 |No2| 6 — 1 Bry—L |52 — 17 |35
No3| 6 — 5 No.3| 6 2 INo3| 6 — 2 | Bxy¥—LE 0.7536
OoOls3 — o|x]1 — 2 O3 — o0 R BR 2 - 1 1
R Noil 6 — 5 |Noil O — 6 Noll 6 — 5 BERRIr |7 — 2|5
Ir——RXZ 2
No2| 6 — 0 [No2| 6 — 4 No2| 6 — 2 BryY—L (44 — 31 |13
No3l 6 — 0 |No3| 2 — 6 No3| 6 — 3 | By —LE 0.5867
x|1 — 2|x]lo — 3|x]o 3 B Bx 0 — 3 |-3
No.1| 1 — 6 |Nod1| O — 6 |No.1| 5 6 BERERAU- 1 — 8 | -7
EREL . 4
No2| 6 — 5 [No2l 1 — 6 |No2| 2 6 Bry—L |21 — 53 [-32
No.3| 1 — 6 |No3| 2 — 6 |No3| 3 6 /R —LE 0.2838




A& HB:10829H

F—L% SANSHIRO#E EREZ ZIBZEER */EXAJB IHH EIE S = (IEfz
Ol2 - 10]l2 —-— 1|02 - 1 s B 3 — 0|3
i Noil 6 — 1 [No1l 6 — 4 |Noi|l6 — 4 BRI |6 — 3 |3
SANSHIROZE 1
No2l 1 — 6 [No2l 2 — 6 |No2l 6 — 3 Bryr—L 44 — 32 |12
No3l 6 — 0 [No3| 6 — 2 |No3| 5 — 6 || B&KYy—L=x 0.5789
1 — 2 Ol3 — o|O|l2 - 1 s B 2 - 1|1
No.1| 1 — 6 No.1| 6 — 4 |No.1| 6 — 5 BERRAU+ 6 — 3 3
BER&Z . 2
No2| 6 — 1 No2| 6 — 3 [No2| 6 — 2 Bry—L 37 — 371|0
No3l 0 — 6 No3|l 6 — 4 [No3|l 0 — 6 | BRyr—L=E 0.5000
1 — 2| x|lo — 3 x|1 = 2 B 0o — 3 |-3
) Noil 4 — 6 [Nol| 4 — 6 Noil 6 — 4 BErRREI |2 — 7 |-5
ZIEZER . 4
No2| 6 — 2 [No2| 3 — 6 No2[ 5 — 6 BRy—L |35 — 48 [-13
No3l 2 — 6 [No3| 4 — 6 No3| 1 — 6 || B&Yy—L=x 0.4217
1 — 2 |x|1 — 210|l2 - 1 s B 1T = 2 |-
. Noil 4 — 6 |Noil5 — 6 |No1l 4 — 6 BrRAEI | 4 — 5 |-
*/EAJB 3
No2l 3 — 6 [No2l 2 — 6 |No2/ 6 — 5 BrRy—L |42 — 41 |1
No.3| 6 — 5 |No3| 6 — 0 |NoJ3| 6 — 1 /R —LE 0.5060
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AZOyI16L | O 2 1 BT Ov/ 14
No.1| 5 6

STAR LIGHT S|No2| 6 2 SANSHIRO#E
No.3| 6 0

ATy 34 x | 1 2 BT O34
No.1| 5 6

TILRAYT [No2| 3 6 */E4JB
No.3| 6 0

AJOvo2{1 Ol 2 1 B7AvY2{i
No.1| 6 1

T+—L—RXZ |No2| 6 3 ER&Z
No.3| 5 6

AJOvo440 Ol 2 1 BT Ow 44
No.1| 2 6

BER=L No.2| 6 4 Z{BZEER
No.3| 6 4




